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Paper -l
o6 -1

1. Carbon-14 dating method is used in
which one of the following materials :

(A) Organic Materials

(B) Inorganic Materials
(C) Both of the above
(D)

D) None of the above

2. Which one of the following
Archaeological methods is adopted to
save the endangered monuments from
destruction ?

(A) Cognitive Archaeology
(B) Salvage Archaeology
(C) New Archaeology

(D) Field Archaeology

3. Who among the following was not
considered as Grammarian of Ancient
India ?

(A) Panini
(B) Patanjali
(C) Bhaskara
(D)

D) Vararuchi

4. In which of the following states the first
rock paintings discovered ?

(A) Madhya Pradesh
(B) Uttar Pradesh
(C) Tamil Nadu

(D) West Bengal
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DB WBIVOT 2

2. ©o580d @3&35"65068 DED OGO 0CFEE
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5.

The Battle of Ten Kings is referred to in
which one of the following Vedic

literatures ?
(A) Rig Veda

(B) Yajur Veda
(C) Sama Veda
(

D) Atharvana Veda

. Match List-l with List-Il and select the

correct answer with the help of the codes
given below :

List — I : Megalithic sites List-Il: States
a. Adichanallur 1. Kerala
b. Mangadu 2. Karnataka

c. Brahmagiri 3. Andhra Pradesh

d. Yelleswaram 4. Tamil Nadu
Codes :
a b c¢ d
(A) 4 1 2 3
B) 1 2 3 4
) 2 3 4 1
(D) 3 4 1 2
Which one of the Tamil literary texts throw

light on the influence of Buddhism ?

A) Manimekhalai

(A)
(B) Silappathikaram
(C) Tholkappiyam

(D)

D) Purananuru
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8.

10.

11.

12.

The personal name of King Ashoka was
discovered at first in

(A) Girnar Inscription
(B) Maski Rock Edict
(C) Rock Edict IV
(D) Pillar Edict VI

Which one of the following sources do
not refer to the Nanda Kings ?

(A) Puranic sources
(B)
(C)
(D)

Buddhist sources
Jaina sources

Persian sources

Which one of the following is not
authored by Ashwagosha ?

(A) Buddhacharita

(B) Sariputraprakarana
(C) Saundarananda
(D) Pancharatra

Who among the following Gupta rulers is
known only from the source of coin ?

(A) Chandragupta ll
(B) Ramagupta

(C) Samudragupta
(D) Chandragupta |

Which one of the following Sangam
literature refers to the southward
expansion of the Mauryas ?

(A) Tolkappiyam

(B) Purananuru

(C) Ahananuru
(D)

D) Padirrupattu
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13.

14.

15.

Taranatha, a Tibetan has written which
one of the following books ?

A) A History of Indian Religions

(
(B) A History of Mahayana Buddhism
(C) A History of Indian Buddhism

(

D) A History of Ancient Religions

Match List-I with List-Il and select the
correct answer with the help of the codes
given below :

List — 1 : Authors List—1l : Works

a. Strabo 1. Naturalis Historia

b. Pliny 2. Geography

c. Claudius 3. Bibliotheca
Aelianus Historia

d. Diodorus sicilus 4. On the Peculiarities
of Animals
Codes :
a b
A) 1 2
B
C

D

c d
3 4
2 1 4 3
3 4 2 1
4

(
(
(
( 3 1 2

)
)
)
)

Besnagar pillar inscription belongs to
which one of the following periods ?

A) Kushans
B) Shungas
C)

D)

Kanvas

(
(
(
(D) Shakas

13.

14.

15.
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16.

17.

18.

19.

Which one of the following places does
not have the evidence of Indo-Roman
trade ?

A) Kaveripatnam
B
C
D

Kanchi
Adichanallur

Arikamedu

(A)
(B)
(C)
(D)

Which one of the following places does

not have the stupa ?
(A) Amaravathi

(B) Sravanabelgola
(C) Jaggayyapeta
(D) Nagarjunakonda

Which one of the following caves does
not represent Buddhism ?

Konadane

Who among the following Pallava rulers
was responsible for the construction of

five rathas at Mamallapuram ?
(A) Mahendravarman |
(B) Narasimhavarman |
(C) Mahendravarman |
(

D) Narasimhavarman Il

16.

17.

18.

19.
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20.

21,

22.

23.

24,

Who among the following is the first ruler
of early medieval Pandyas ?

(A) Maravarman Avanishulamani
(B) Kadungon

(C) Rajasimha |

(

D) Parantaka Nedunjaliyan

Who among the Chola rulers does not
made overseas expedition ?

(A) Parantaka
(C) Rajendra |

(B) Rajaraja |
(D) Kulottunga |

Kaveripatnam an ancient international
port is located in the state of

(A) Andhra Pradesh
(B) Kerala

(C) Tamil Nadu

(D) Karnataka

Ibn Battuta who visited India during the
medieval period was

(A) An Arab Traveller
(B) A Turkish Traveller
(C) A Persian Traveller
(D) An Afghan Traveller

The Rayas of Vijayanagara took the help
of the Portuguese engineers in

(A) Improving their Cavalry
(B) Training their artillery
(C)

(D) Ship-building

Constructing irrigation works

20.
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22.

23.

24,
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25.

26.

27.

Match List-I with List-Il and select the
correct answer with the help of the codes
given below :
List—1: Books List -1l : Authors
a. Sangitha 1. Ramayamatya
Suryodaya
b. Swaramela 2. Kallinatha
Kalanidhi
c. Sangita 3. Laxmi Narayana
Cintamani
d. Sangita 4. Pedakomati Vema
Ratnakara
Codes :
a b ¢ d
(A) 3 2 1 4
B) 1 3 2 4
(C) 38 1 4 2
(D) 2 3 4 1
What is the literal meaning of the word
“Urdu” ?
(A) Link language
(B) Colloquial language
(C) Classical language
(D) Camp language
Who among the following was ultimately

responsible for the successful
implementation of economic regulations
throughout the empire under Alauddin
Khalji ?

(A) Diwan-i-riyasat

(B) Diwan-i-wizarat

(C) Shahana-i-mandi

(D)

D) Ariz-i-mamalik

25.

26.

27.
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28.

29.

30.

In the first quarter of the 13" century who

among the following destroyed the
famous Buddhist monasteries of Bihar,
Nalanda and Vikramasila ?

A
B

) Muizzuddin Muhammad bin Sam
) Qutbuddin Aibak

) Bakhtiyar Khalji

) Ali Martan

Which one of the following cities was not
founded by Firozshah Tughlaq ?

(A) Fatehbad
(C) Tughlagabad

(B) Jaunpur
(D) Hissar

Match List-I with List-Il and select the
correct answer with the help of the codes
given below :
List—1
(Founder)

a. Alauddin Khalji

List-1I
(Name of the city)

1. Mubarakabad

b. Ghiyasuddin 2. Jaunpur
Tughlaq

c. Firozshah 3. Siri
Tughlaq

d. Mubarak Shah 4. Tughlagabad

Codes :

a b ¢ d

(A) 2 1 4 3

B 3 4 2 A1

@ 4 3 2 1

(D) 2 1 3 4
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31.

32.

33.

Which one of the following statements
concerning the Jaunpur style of
architecture is not correct ?

(A) Jaunpur style of architecture
reflects a sweet blending of Muslim
and Hindu architectural ideas

(B) The Jaunpur style provides no
minarates

(C) In Jaunpur structures sloping walls
and square pillars were designed by
Muslim masons

(D) The Atala masjid is considered as one
of the brilliant specimens of Jaunpur
style

The dargah of Hazrat Nizamuddin Auliya,
the most venerated Chist-i-saint was,

constructed during the
(A) Khalji period
(B) Tughlaq period
(C) Sayyid period
(D) Lodi period

“Raseswara Darsan”, a work on alchemy
and chemistry was composed by

A) Siddha Nagarjuna

(A)
(B) Madhavacharya

(C) Sayanacharya

(D) Both Madhavacharya and
Sayanacharya

31.
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34.

35.

36.

37.

38.

39.

In Delhi Sultanate, the Barids were :
(A) Village officials
(B)
(C)
(D) Sultan’s bodyguards

News reporters

Artisans in Karkhanas

The mansabdars who were paid in cash
were called as

(A) Mirzas
(C) Amirs

(B) Jagirdars
(D) Naqdis

Bakhtiyar Khalji raided the territories of

(A) Kalinjar (B) Gwaliyar
(C) Punjab (D) Bengal
The Telugu Kavya which gives a vivid

description of sea-borne trade of
medieval South Indian Kingdoms is

(A) Haravilasamu
(B)
(C)
(D) Amuktamalyada

Harivamsamu

Bhima Khandamu

The acceptance of terms of peasant
proprietorship was called

(A) Jaribana (B) Qubuliyat
(C) Muhasilana (D) Patwari

Which one of the following is not correctly
matched ?

(A) Nikitin — French
(B)
(C)
(D)

Durate Barbosa — Portuguese
Nicolo Conti — Italian
Ralph Fitch — English

34.
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37.
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40. Given below are two statements, one

labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below :

Assertion (A) :In Europe, science and
technology had grown
from 15 century onwards
by setting out a sphere of
rationalism away from
religion.

Reason (R) : The inability of science
to delink itself from religion
or mysticism became an
inhibiting factor in
medieval India and the
Islamic world.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

40. 2005 300 Toth EITeS” wtkl D3P0 (A)

41.

0N seRo (R). 363 S0 3y §°G0
500G 0% RGP JonE Danod.

ARBTEE (A) 1 DOUTD Frgod’ Hoso ool

PBEIT T DEDSE0DY
QL6 oE T roiss
D0

SoEeag50 (R) : H0g350ion groBtEod i
Bl BRowod s Koo,
SIOETTO B00G TR
DT ABGHEPHC0 08

5 S0 OD0H.

&,

(A) 350 (A), 5°0et o (R) Botr &50.
S0 (R) D85m50 (A) £ 535 2556

(B) d3mrso (A), 5°0eteo (R) Botir &50.
SoeaTso (R) 95l (A) $ 539
DRTED T°C

(C) AsoEo (A) D80 520 soearso (R)
G0

(D) 350 (A) edego 520 s°Seagireo (R)
K)é?so

SO PeTed DEODD By Kol e$)d EBLbigo
DEOVD DR AN, 3B O AGore HBFSo

41. The rate of tax in Akbar’'s government was -

higher than that was prescribed by Hindu obéo wOfet 7

laws. How was it compensated ? (A) 55905 Towmed” DN DB

(A) By allowing the ryots to pay the tax in BRIRBOLCO Ty
installments (B) D800 herods 5008575 DOXOE0 T

(B) By granting loans to the farmers (C) %3 508" 053 DDoPD eoBodono

(C) By allowing tax payment in kind o5

(D) By abolishing other vexatious imposts (D) 000 380 SRgeo MosTers e Batbeo
and cesses o
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42.

Which one of the following statements is
not correct concerning Shivaji’'s army
administration ?

(A) His regular army considered of 30,000
to 40,000 cavalry

(B) He preferred to give cash salaries to
the regular soldiers

(C) The plunder taken by each soldier
during campaigns was strictly
accounted for

(D) Women were allowed to accompany
the army during campaigns

42.

43.

Foe2 E ATFTE0 30200800 08 T3S DO
ROBE 590 9

(A) @82 ps0s° 30,000 Sooc 40,000 o
©JEET0 €00

(B) 22500 doroms S 6rded” DoBeds
TR0 Funesd

(C) cxaryos® Safeds Homesd R e
Nlo\sicinalel

(D) axdocross ey pagdd Seom
S0CeTAR B2 FOR0 ©95050D 0TI

BOWED Forgo VBT BRIWES FTyo

43. Who among the following maintained
more number of merchandise ships rSoaiod” A%, s’ Tedesy TS0 SOA
during the late 17t and early 18t GO
centuries ?
(A) $055 DB wend 130
(A) Abdul Ghaffir of Surat 5 oE 5
B) 50095¢y0% Dodd £55°0000
(B) Mir Kamaluddin of Machilipatnam (B) Son0ieyes 2o e
(C) Astrappa Chetty of Pulicat (C) 95635 2obs w3 0
(D) Perayya Chetty of Guntur (D) 70625755 OB D8Ny Do
44. ‘Pietradura’ work is related to 44, DSBS b 208 T3S DAL $5020H00E ?
(A) Miniature paintings (A) gy Do
(B) Wall decoration with inlay work of (B) 85,5 Dewoid KD Tk Tici0 TR Aciord
semi-precious stones Setteenlnle
(C) Indo-Islamic architecture (C) mo&-a 208 Joesd
S. -
(D) Decorating buildings with glazed tiles (D) airers 0% ood weostonto
45. Sir William Acworth Committee relatedto | 45+ ¥ 20ai0 85§ 2063 $0b 236" B8
A) Land R 5020000008 2
(A) Land Revenue (A) @Oéabwé
(B) Chamber of Commerce (B) Trowb e s50b
(C) Indian Railways (C) erodon Békes
(D) Indian Industries (D) 2SS DO
[T -] 14 A-13-03|




46.

47.

48.

49.

50.

Which one of the following villages was
not a part of originally developed Calcutta ?
(A) Kalikata (B) Sutanati

(C) Gorakhpur (D) Gobindapur

Who was the Army Chief of India at the
time of Indo-China War of 1962 ?

(A) General Manekshah

(B) General Rajender Singh

(C) General K.S.Timmayya

(D) General Cariappa

Name the ruler who granted Diwani rights
to the East-India Company over Bengal,
Bihar and Orissa

(A) Farruksiyar (B) Shah Alam
(C) Mohamad Shah (D) Ali Vardikhan
In which year the Indian Penal Code
became an Act ?
(A) 1835

(C) 1865

(B) 1860
(D) 1870

Assertion (A) : Woods Despatch of 1854
is generally known as the
‘Magna Carta of English
Education” in India.

Reason (R) : Itoutlined a comprehensive
plan for the future
development of education

system in India.

In the content of above statements which
of the following code is correct ?

Codes :
(A) (A) is correct, but (R) is wrong
Both (A) and (R) are correct

(B)
(C) (A) is wrong, but (R) is correct
(D) Both (A) and (R) are wrong

46.

47.

48.

49.

50.

2063 NS T3S O (oo Fosze SASon
@@é@@ oA 77638 [H00HOVKE 3°¢0 ?

(A) 5959 (B) 0858

(C) Rogfird (D) 7*80&5°5

1962 3 S0%58y508" e0h aroS-p ooy
25001008 B PO

(A) 268 S0k

(B) e85 orzEogsoh

(C) e3:5553.95. S0l

(D) e56& 50wy

Borrd, Y58, 2.0 D BTE TEeR B
F0G0XT E0RS 500257 DS TOEIE

(B) Jr eo0
(D) ed509rS

(A) 565855
(C) 200 e

g0 BZ? S DLOTT LrPolS HodT0

(A) 1835 (B) 1860

(C) 1865 (D) 1870

RBaTEe (A) 1 1854 5 20085080 &)
G arEB0E0E” o
Z)Cé?gé Ho2aofo) ‘Zﬁ???&g"%‘”m
o L OLT0.

So5eag50 (R) 1 90 erS50508” e Ao
0555 D08 ol PeTdsh
©080U0H.
0 BOVD PIWTE B0S” Socs BOVD IS’
NaFvertal
&,
(A) 2350 (A) 5350, 20 serso (R)
$OBE 59650

(B) d%ysarsso (A), seeeagirso (R)Bocr 5o

(C) 3550 (A) TS0 59650 520 520880
(R) 056

(D) gyEarso (A), s°Ceeireo (R)Socis 5o
)
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51. Match List-l with List-ll and select the 51. 563 59 356550 $e35- 11 $59) e 355 20m 235559
c9rrect answer with the help of the codes o5 3205 §E0 1308 505 © Sy o8
given below :

. . Da0odd.
List—1 List-1I
(Authors) (Books) ISR RISER|
a. V.P. Menon 1. Rise and growth (Suoooves) (Hogsoows)
of Economic a. D.2.05S 1. 3f ok ('S &
:\lzt.lonallsm in 2558 B Oeso
ndia
[0 JOGATT
b. Bipinchandra 2. The Transfer of _
Power in India b. £2S Hos 2. &5 Ereyd eh 056
c. D.N. Dhanagare 3. Gandhi’s Rise to ke
Power : Indian C. G.JS. oo 3. od ;TR e 996 ;
Politics, 1915- R0GaDS PO ;
1922 1915- 1922
d. Judith M. Brown 4. Peasant
. d. 228 250, 15 4. HBoeS SorSdooe] 35
Movements in
India 1920-1950 gocal (1920- 1950)
Codes &,
a b ¢ d a b ¢ d
A 3 1 2 4 A 3 1 2 4
(B) 4 3 2 B 4 3 1 2
C) 2 4 3 C 2 1 4 3
(D) 1 4 3 2 (D) 1 4 3 2

52. Who presided the first meeting of Akhil 52. 1920 3 $058y508° TorrbS° 0f ‘@de
Bharatiya Bahishkrut Parishad (All India I SaYy 2rHyS ©oRd’(All India
Depressed Class Conference) held at Depressed Class Conference) 300¢5¢3
Nagpur in 1920 ? RT3 D SOV T
(A) B.R. Ambedkar (A) £. 5. eofies,b
(B) Sahu Maharaj (B) e
(D) Bagya Reddy Varma (D) &7rRE 55,

g 16 A-13-03|




53.

54.

55.

In which year All India States People’s
Conference founded ?

(A) 1925 (B) 1927
(C) 1929 (D) 1930

Match List-I with List-Il and select the
correct answer with the help of the codes
given below :
List—1 List-1I

(Tribal growth) (States)

a. Singphos 1. Andhra Pradesh
b. Koyas 2. Orissa

c. Khonds 3. Bihar

d. Santhals 4. Assam
Codes :

a b ¢ d

A 4 1 2 3

B 3 2 1 4

C 2 3 4 1

D) 1 4 2 3

“Oriental learning is completely inferior to

European learning” — Who had put
forward this argument ?

(A) Lord McCauley

(B) Warren Hastings

(C) William Bentinck

(D) Raja Ram Mohan Roy

53.

54.

55.

oo ey DY) SHHOS O KB e’
@;330{523&06 ?

(A) 1925 (B) 1927
(C) 1929 (D) 1930
26351 50 03511 & 259500 8083 30 SGd”

200G 500 DHPETR) JoE Danod.

B3y -1 8%~
(@K@ @?Dé)@) (@{éo)
a. o 1. es0[S0F
b. o 2. 2.0
Cc. $o& 3. 456
d. Sozdy 4. 90
&,
a b ¢ d
(A) 4 1 2 3
B 3 2 1 4
C) 2 3 4 1
(D) 1 4 2 3
“DEF Jepiiod POY @eig Jero Yo
000" — B8 TLIID S0O0CHE BYCRXD ?
(A) ob20sd

(B) 505 Sr0fy
(C) &0 2Boedos

(D) crezoioess orok

17
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56.

Which of the following statements about
the Native Marriage Act of 1872 are
incorrect ?

l. It was popularly known as the Civil
Marriage Act

Il. 1t was passed by Lord Lytton
. It legalised Brahmo marriages

It fixed the marriageable age for girls
and boys at 18 and 20 respectively.

Select the answer from the codes given
below :

(A) landll
(C) Mand IV

(B) lland Il
(D) Iland IV

56.

i);i)§ I B0 -1872 5 Hoeodow 308
T%38° D BRI 57 2
| 006 26 Qa5 1569500 oot
Il. & b 95D T80 Dabedod
lll. (@22, 3o @98 Hegeo DS
IV. 25755 Sabingto HEseen 20 Hosgoren

§®§> 18 JoseyTreon &b Dgoooo{,’)o&

2o&s g% &0 Bood TOB BEFEER) JoD¥
dadodt.

(A) 150605 |1 (B) 1150850 Il

(C) NIisodeso IV (D) 11508050 IV

57. Name the city, which was the capital of 57. 5::?0 0l¢) KBRS Borre Tre) D6 ?
Bengal, at the time of Battle of Plassey ? (A) sos
OST°
(A) Calcutta - :
B) =3
(B) Kasim Bazar (B) swcwer
$52000°erE
(C) Murshidabad (C) Soxgorer
(D) Dhaka (D) &=
(L % A 2 » N «
58. In which year Ambedkar organized | °° @Oéjcsbs 015 ST D Bos0ed”
“Mahad Satyagraha” ? e 0T ?
(A) 1922 (B) 1925 (A) 1922 (B) 1925
(C) 1926 (D) 1927 (C) 1926 (D) 1927
59. Who said that the Congress represented 59. grodab g’wégogsfygj&@ mg@@_i@%éo&? 5
only a ‘microscopic minority’ of the Indian o0 BIER0 TOMR FVAFe B HITHE
people ? DI TN ?
(A) Sir Sayyad Ahmad Khan (A) ©50ish embarS
(B) Lord Duffrin (B) &b &S
(C) Lord Curzon (C) obs5s
(D) Lord Minto (D) &6 0cs°
g 18 A-13-03|




60. The importance of 17" December 1961 60. 1961, G202 17 G0, (P0858 Q063
s (A) arsdad piogo Al p o
(A) Indian Army marched into Goa (B) 50& Do a0l oo
B Q@
(B) Beginning of the Indo-China war (C) Bror-Oasrad 2330650 o850
(C) Signing of Nehru-Liagat Pact (D) &.J03. 36 55
D03 TQ
(D) Establishment of D.M.K. Party
61. 52800 T0E" I “godkalr espb Mo &
61. Who among the following wrote the book (oG GO 2
“India after Gandhi” ? (A) SoE05
(A) Sumit Guha (B) 2.05. 635,56
(B) K. N. Panikker (C) o8 5076
(C) Sumit Sarkar (D) o550 Ko
(D) Ramachandra Guha
62. Treord 3oik-awhird oS o0Gol Sob
62. Which one of the following results is 636" D B0 BB 9
connected with 4" Anglo-Mysore war ? N
1. 20850 055 e Tresdoo oesd
1. Mysore once again placed under .
&
Wodayar dynasty 9°
2. Mysore accepted subsidiary alliance 2. PIEHITE orr) Rrd eofisboled
3. End of the independent state of 3. i 5o Treyy Trand S G000
Mysore 4. 20076 o grro Jero T g9gEo
4. Part of Mysore state was given to 2OROE
Nizam
208 &0 Bood FBS VBTG JoE
Choose the correct answer from the
_ Danod
codes given below :
(A) 1,2 and 3 are correct (A) 1, 25080100 3 5852
(B) 2, 1, and 4 are correct (B) 2, 1500am0 43500
(C) 2,3 and 4 are correct (C) 2, 350000 4535
(D) All are correct (D) 50 505
[T -] 19 A-13-03|




63. Match List-l with List-Il and select the
correct answer with the help of the codes

given below :

List -1 List-1I
(Editor) (Newspaper)
a. Surendranath 1. Amrit Bazar
Benarjee Patrika
b. Dwaraknath 2. Bengalee

vidyabushan

c. Sisir Kumar Ghosh 3. Bangadarshan

d. Bankim Chandra 4. Somprakasha

Chatterjee
Codes :
a b ¢ d
(A) 2 4 1 3
B) 1 3 4 2
(C) 3 2 1 4
(D) 4 1 3 2

64. Who was the founder of Dhaka
Anushilin Samithi in 1906 ?

(A) Satish Chandra Mukerjee
(B) Satish Chandra Basu

(C) Putin Behari Das

(D) Barindra Kumar Gosh

65. Arrange the following Satyagrahas in the
chronological order and select the correct
answer from the codes given below :

1. Vaikom

2. Khaira

3. Borsad

4. Champaran
Codes :

(A)

3
(B) 2
(C) 1
(D) 2

- W h =
W phbhwWN

4
]
2
D) 4

63. ekl 550 063511 & 2035000 S0t 5y S'Go Mol

64.

65.

5B DRTTTR) JoDE WODOG.

$e3s -1 Be3s -l
(Bodresas) (Fos©s)
o00EsE B 1. oy 2erd 28y

c 9

TS DT ETHS 2. ENARI)

o

200 LIFEPTR 3. 20sgS
d. oo HoiEs Hexd 4. FPodsos
&,

a b ¢ d
A 2 4 1 3
B 1 3 4 2
Cc 3 2 1 4
M) 4 1 3 2
1906 & G75° 55503015 BB SO ?
(A) S80S K009
(B) 3855013 200
(C) HOS 8500
(D)

D) 280350557630

Sod WVEUY) VSHWT  &TgHSreso
TORENEISE’ @By, OO § 6o oo

53 DRTTTRR) JoE WOHod
1. D8

2. 3o

3. &6

4. D0TES

&,

A 4 3 1 2
B 1 2 4 3
Cc 2 1 3 4
G 4 2 1 3
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66.

67.

68.

69.

Who headed the linguistic provinces
commission in 1948 ?

(A) Sardar Patel

(B) Pattabhi Seetaramayya
(C) Fazal Ali

(D) S.K. Dhar

The most fundamental aspect of Nehru’s
foreign policy was

(A) India’s friendship with super powers
(B) Retaining full foreign policy autonomy

(C) Maintaining friendly relations with
neighbours

(D) Supporting anti-colonial movements

The Black Death refers to

(A) A social custom prevailed in Africa

(B) A ship drowned in the sea

(C)

(D) A religious practice of medieval
Europe

A plague

Which one of the following statements is
not correct concerning the NATO ?

(A) NATO was considered as an essential
defensive organization against
communist aggression

(B) It was viewed as a successful step
towards European and trans-atlantic
co-operation

(C) Soviet union was of the opinion that
the formation of the NATO was a
breach of the United Nations Charter

(D) The real strength of the NATO did not
rest on the support of United States

and her atomic weapons

66.

67.

68.

69.

1948 & g7l (HOX00% T S0HSDH TAbSHs0
S2PODSDIS ?

T A, VAT IS0 IO eoido
(A) O TerS aroBEo Qo €00

(B) Jaaroif Agio D) gl R8HGD DA
0G0

(C) ZTono Bz o8 )T Voo eDo
STwilsletn o)

(D) sexsares 55808 excsgsro BogBodiso

“erECSE" &0 B3 HowoRolsd

A) 358’ e50008" &) el R 550
B) 55001g308° S00dRS 8.6

C) A P

D) So¢soibon mb'ard’ ey ¥ ST mro

19

32°

(
(
(
(

NATO £ $020802 $o& 205 38" 28

15300 50 2

(A) E507sA0 SoTPEBOEIEL H;BB o
ST U8 5559 NATO 0 2roticio
230A08

(B) 00D H0B0K0 eeroeds exd dzre

(Trans-Atlantic) S5 seddson e
Qe3OINDOBR [ECIENOTT® WI°¢e€r0 &30N08

(C) P05t aordoros NATO Doeyeanso
QBIREE T3 TEOL0 oo grdodod

(D) NATO %35 2200 ¢005° Sog8ods o)
@ETONGT® PO TG S0
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70. During which war Florence Nightingale | 70. cxogod” g5mrigngs e O abag Sorod”
provided nursing services to wounded 00 DIOAS 58y0h Ve HoBoDHE ?
soldiers 7 (A) @2oasr abocgo, 1854
(A) Crimian War, 1854 (B) &8 - @3@3 anoggo, 1870
(B) Franco-Prussian War, 1870 (C) ey aszes, 1912-13
(C) Balkan Wars, 1912-13 (D) Boocse3 (905 o¥eso, 1914-18
(D) First World War, 1914-18

71. 1789 T3 (30D XD SPe0d’ BAG E00S

71. Who was the Holly Roman Emperor at TPReIg WIEDG DD ?
the time of French Revolution, 1789 ? (A) dOrIEHEG
(A) Emperor Leopald (B) ©§rosf 51590
(B) Emperor Franz (C) J. R.25 5850
(C) Emperor J. R. Herbert (D) 3 3005{5@3@

(D) Emperor Ferdinand

72. 505y B3 Howohodsd
72. “Heuristics” is related to
(A) @085 I8,

(A) Internal criticism

(B) External criticism (B) erig Im0

(C) Synthetic operations (C) %ogsen o

(D) Concluding operations (D) 5o0ohod) Eah

73. Which one of the following works is not 73. eHIETTHOBE SolEEs IS FTFTand

authored by Michel Foucault, a profound

: DO

scholar of post-modernism ?

(A) The History of Sexuality (A) &350 &b xyrde]

(B) Madness and Civilization (B) 55&RR @90 2IDEIS

(C) The Order of Things : An Archaeology (C) & es5 B Boffy : &5 By aro &b ¢

of the Human Sciences 555 D
(D) Being and Time
(D) Doxoh ok &5
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74.

75.

Consider the following in preparing
reference to an article published in a

journal
1. Title of the journal in italics
2. Name of the author
3. Serial/Part, volume number and year

4. Title of the article within/quotes

Arrange the above in sequential order
and select the correct answer from the

codes given below :

Codes :

A1 2 4 3
B 2 4 1 3
¢ 2 3 1 4
D) 2 1 4 3

Which of the following schools of
historiography consider history as “social

physics” ?

(A) Enlightenment school
(B) Romanticist school
(C) Positivist school

(D) Annals school

74. e5)3S° of TR0 (HBOTEIED WoO0HOI

BPB IS0 FrIroBod @S $o0d 3
2508DoBOc:

1. SE S T exthS B0

2. 5o 2

3. %0a0S/ TG, 5093 dogs $o80ihd SovEEo

4. TG00 BOE TEINS 1050s”

2 T3 9% (E3008° e300y Sods S S&o

500G 500 DRPETR) JoE DaDod.

&,

A 1 2 4 3
B 2 4 1 3
C 2 3 1 4
© 2 1 4 3

75. J0/E TR g7 CRS e @é’,)zégo{i)ié

DTOBET T MHOQOT[0
(A) dessEaeeso (Enlightenment school)
(B) sc0yd8 =0 (Romanticist school)

(C) 2309 oo (Positivist school)

(D) esdy o (Annals school)
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